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(A)    (B)  

(C)   (D)  
(E)  None of these

plant?

(A)  Lotus plant (B)  Cactus plant
(C)  Babool plant (D)  Sugar plant
(E)  None of these

3. 

(A)   (B)   

(C)   (D)   
(E)  None of these

4. 

(A)  

    
(B)  Chilli  (C)  Brinjal 

 
(D)  Pear  (E)  None of thee

5. 

(A)  West (B)  East
(C)  South (D)  North
(E)  None of these

(A)  46 (B)  55 
(C)  56 (D)  44
(E)  None of these
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

(A)  4 : 40 
(B)  3 : 20 
(C)  3 : 40 
(D)  5 : 20 
(E)  None of these





(A)  Thursday 
(B)  Saturday
(C)  Sunday 
(D)  Wednesday
(E)  None of these

9. 

passing marks. If passing marks is 25 then how 

(A)  40 (B)  35
(C)  45 (D)  25
(E)  None of these

H T 0

(A)  Five hundred 

(B)  Five hundred and forty six
(C)  Six hundred and sixty four 

(D)  Five hundred and forty
(E)  None of these

which of the following pairs have the same 

(A)  Big and Tall 

(B)  Long and Tall

(C)  Huge and Large 

(D)  Thin and Fat

(E)  None of these

(A)  A 

(B)  L 

(C)  I 

(D)  E

(E)  None of these

Answers
1. (C) 2. (A) 3. (B) 4. (B) 5. (A) 6. (A)

7. (C) 8. (A) 9. (A) 10. (B) 11. (D) 12. (B)


